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The Error Analysis of Collimation of Hyperboloid Cylinder-plane Lens

LUO Ya-mei' > LIANG Yi-ping' XIONG Ling-ling'
1. College of Physics and Information Techonology Chongging Normal University Chongging 400047
2. Dept. of the Modern Education Computer Center of Technology Luzhou Medical College ILuzhou Sichuan 646000 China
Abstract According to the basic principle of light-ray propagation through calculations and deduction the collimating effects
of semiconductor laser in fast axis direction of hyperboloid cylinder-plane with eccentricity error are analytically showed and
discussed. The consequence in this paper may be used to design a collimating system with micro- hyperboloid cylinder-plane
lens that will considerably decrease the diverging angle of diode laser in fast axis and will be build up high quality beam.
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